Paper / Subject Code: 85604 / Taxation - V (Indirect Taxes- II1)

T BRE

Duration : 2.5 hrs ‘ 75 Marks

Note : 1. Question No. 1 is Compulsory.

2. Question No. 2,3,4 and 5 have internal options.
3. Each question carry 15 marks.

Q1(A) Multiple Choice:(Any 8) | & : @

L

The Deductor has to deduct tax from deductec where the total value cf supply under
contract exceeds ] - ;

a) Rs. 1,00,000

b) Rs. 10,00,000

¢) Rs.2,50,000

d) Rs. 50, 000

Feesof _ ~ perday shall be lev1ed for dclay in furmshmg of return

a) Rs.25~ , .

b) Rs.50

¢) Rs:75

d) - Rs. 100

Thc books of accounts required to be maintained by a reglstered person are to be

_":retamed for a period of . from the date of filling the Annual Return.
a) 8 Years - :

b) 7Z;ﬁionths

c) 4 Years

d)’1 Year . ' “

Indian Exclusive Economlc Zone means an area up to __nautical miles into sea
from base line of India. "

a) 12

b) 24

c) 200

d) 100

Bill of Entry for is filed by importer for making imported goods part of

mass of India. :

a)~ Warchousing

b) Home Consumption

c¢) Clearance ;

d) Indian Consumption 3 .
is an extension of Customs Port.

a). Container Freight Station

b) Air Freight Station

-.¢) Foreign Post Office

d) Inland Container Depot -

Duty is charged to counter-balance sales tax, VAT on like article being sold
in India.
a) Additional Custom Duty u/s 3(1)

b) Additional Custom Duty w/s 3(3)

" ¢) Additional Custom Duty w/s 3(5)
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Paper / Subject Code: 85684 / Taxation - 'V_(Indirqq‘l’l—--)

8. Incase imported goods are being cleared from warchouse forbomme
consumption E o & -
a) Date of ex-bond bill of entry ;
b) Date of Into-bond bill of entry
¢) Date granting entry inward
d) Date of Presentation of # > =
9. Duty drawback w/s 74 for re-expest of goods imported shall be prowided o =

. *

maximum Y% of&lyﬁhm imported goods.

a) 95% 2
b) 99% = 3 g
c) 98% o
d 100% A E 4 = 3
10. Maximum warehousing period for goods belonging to 100% Expest Oriented Unit is .
a) 5 Years = )
b) 3 Years - T g 3
¢) FYears = 3 .
d)“No Limit 6n Time Period
Q1.B) Match the following: (Any 7) - M
: - Column A & : : -Column B
l. GSFRH  :.° 5 - | Within 90 Days- =
2. Special Audit = | Anbual Retustr
3.. HighSea - ~ Price at seller’s factory
4. Entry Inward ;- Pilferage ~
5. InjuryMargin -~ = 1 6% p.a.”
> 6. Excfactory . R 5 Days’ ‘ ;
7. Goods Consumed on board a vesse Beyond 200 nautical miles from Indian base line
8. Petty theft - o Bill of Entry for warchousing
9." Interest Free period for duty drawback | Rate at which safeguard Duty is charged
~10. TDS Certificate - X Regarded as stores
Q2.A) Mt;"Rakesh alr'egistered supplier of goods, pays-GST under regular scheme and provides
.. the following information for the month of August 2022: (15)
Inter-State taxable supply of goods . 'Rs.10, 00,000
Intra-State taxable supply of goods - ~ Rs.2, 00,000
Intra-State purchase of taxable goods -~ .~ Rs.49,500,

He has the following Input Tax Credit at the beginning of August 2022

CGST: Rs. 20,000, SGST: Rs. 30,000, IGST: Rs. 25,000

Rate of CGST, SGST, & IGST is 9%, 9% & 18% respectively. Both inward and outward
supplies are exclusive of taxes wh,ei‘ever applicable. All the conditions availing necessary for
availing the-Input tax credit have been fullfiled. Compute the net GST payable by X for the
_month Qf: August 2022. :
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Paper / Subject Code: 85604 / Taxation_ -V (Indir_‘egf“"-'l‘axes-ﬂl_ll)

Q2.B) Mr. Shinde registered in state of Maharashtra provides following details for the month

of August. Calculate his net Tax Liability for the month of August. (15)
Opening Balance in Electronic Credit Ledger as on Ist August™ _
» IGST Rs. 10,000 < . £
* CGST Rs. 35,000
* SGST Rs. 35,000 N .
Transactions during the month : s +(Rs) .
Sold Goods @ 5% GST to Yash:in Nasik . - 3,15,000
Sold Goods @ 18% GST to Priti in Nanded - 8,26,000
Sold Goods @ 28% GST to Kalpana in Nagpur & 5,12,000
Purchased Goods @ 12%.GST from Pune 5,60,000
Purchased goods @ 5% GST from Kolhapur 4,20,000
Purchased goods @ 18% GST from Surat - : 2,36,000
Provided Services @ 28% GST to 1% Akola - 6,40,000
Provided Services @ 18% GST to Divya in Agra. 7,08,000
Provided Services @ 12% GST to Shridhar in Ajmer 10,08,000
Availed Services @ 28% GST from Ahmadnagar 8,96,000
|Availed Services @ 12% GST from Latur - 6,72,000
| Availed Services @ 5% GST from Amravati 8,40,000

All thq‘-amountsfa‘re inclusiye of GST-

" Q3.A) An impogtgi‘}(from Gnjarat 1mpqrts goods‘\'ﬂbm an exporter in_Canada. The vessel
carrying the goods reaches Mumbai port first and from theré'goods are transshipped to Gujarat

the following particulags:

port. Determine the assesjsﬁiale value of the imp_prted goods under tl"x‘e_Customs‘Act, 1962, from

as)

| Particulars o R A Amount
Cost of the machine at the factory of the exporter.. : CAD 54,000
Transport charges from the factory of exporter to the port for shipment CAD 2,200
Handling charges paid for loading the machiric in the ship CAD 250
_Freight charges from exporting country to India . R CAD 6,500
| Buying commission paid by the importer e CAD 250
Charges for design and engineering work undertaken for the machine in 3
Canada B i S i CAD 10,000
Transport charges from Mumbai to Gujarat port INR 70,000

Actual insurance charges paid are ot ascertainable. Exchange rate is CAD 1 = 57.

OR

~ birat

QS.!}_)!" Mr. Sam]:ihu impoﬁ.&_:l goods_fro-m a Sir;g’hi)ore supplier by air, which was contracted

on CIF basis.}'I-I‘oweve!r,'there were changes in prices in the international market between the
. Y z ‘_.'-‘,

date of contract and actual importation. Asi\“é result of several negotiations,
fora :{Q‘gbtiatcd price payable as follows:

A
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Paper / Subject Code: 85684/ Faxation - ¥ (Indirect Taxes- ) & .-~
'::— S A l :
- [Particulars - InSGD
Contract Price Changed price | Negotiated Price’
CIF value ? 8,900 8,800 _
[Freight charges i 700 600 kS
[Insurance 300 500 500 i

Commission to local agent was m mg‘.o.n . i

‘E é l P | ‘J'F;J"Lchan gir}lte
= IOtliied by CBIC | Interbank rate

v. i
Date of bill of entry 2£ | SGD I=INR51 -| USDI=INRS0.

Date of arrival of aircraft SGD1=INR50 | USD1=INRS5I
Compute the assessable value amf custom ¢ By Mr. Pm.shant =

Q4.A)(i) Determine the Customs Duty m* Chsmns‘l‘ ariff Act, 1975 mqludmg the
safeguard duty of 25% under section miﬁd act with the follomng information made

available by the 1mporter - - 22 S (8)
Assessable value of Flbre Gran“ules mq@lﬁ-ﬁlec dew:bpmg countnes Rs.ZS,QD',OOO
during July 2022 & 3, o
Share of imports of Fibre Granules from ﬁuﬁvelopngcmnmos take together T 10%

| against total imports of Fibre Granules to lﬁ
‘Rate of Basic Customs Duty .~ a > o 10%

| Rate of Integrated Goods & Services Taxw's 3(7) : T b § 12%

Rate of Social W‘elfare Surcharge ~ > > ' =~ # 10%

Q4 A)(il) Mr’ Du Peng, a tounst of Chmesomyn aged 40 years come to India on tourist visa
- for a period of one month on 1/4/2022 along with lnsmfe aged 39 years a,ud a child
" Xiaoching aged 2 years. 3 ] 7
He ‘brought following items along with him: N
8. Personal effects like clothes Of Mr. DuPeng valued at Rs. 30 000 of Mrs. Du Peng
.+ valuedat Rs. 51,000 and of the )ﬁaoﬂmgwortbRs.29 000
" b. 2 Laptop computer worth Rs.45,000 each.
¢. 3bottles of wine of 1 liter each of total value of Rs. 7,500
d.. Dlglta] camiera worth Rs.19,000. N
e. Mobile:worth Rs.25,000. a
~What is the Customs: doty payable?

Q4. B)(l) Explam and solve the folloivmg' N @)

1. Data Shoe m@nufacturers, reg:stemdm Mumbai, sold goods to a retail seller in Delhi at
value of Rs, 48 OOO(Echudmg GST of 18%).whether E-Way bill is required?

Z;._.‘T?Mr X erroneously refundedas sum of Rs20,000 in excess of actual drawback on
20.06. 22 the samc was returned to the department on 20.10.2022.you are required to
calcu1ate the amount of mterest chargeable from X. -
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Paper / Subject Code: 85604 / Taxation - V (Indirect Taxes- III)

3. MJs Govind Ltd register taxable person file normal return on July, 31 which was due
on 21* July 2022. What fees Govind should pay? -
4. Bill of Entry (Fill the following)

: Types y Color of BOE No of Copies for BOE
For Home Consumption ? ' _ ‘
4 ? o Yellow 5 ?

For Ex Bond Clearance - 7 ;

Q4.B)(ii) Krishna Ltd. a manufacturer has exported following goods to Brazil. You are

required to calculate duty these goods based on information given below — . (7)
Product 'FOB value of Market price of goods | Duty drawback !
exported goods - o - 1
P 8,70,000 7,20,000 28% of FOB |
Q 12,00,000 | 13,00,000 3% of FOB |
Ry ©2,40,000 - 1,80,000 ~ 0.80% of FOB
S 6,00,000 7,00,000 1.20% of FOB

Other jnf‘ormatiqn: :
“» Imported value of Product Q is Rs.16,00,000.
» Product S is manufactured out of duty free inputs.

Working notes shouild form part of your answer.

Q5.A)(i) Explain Provisions for Furnishing the Returns by Taxable Pérson under GST. 3)
Q5.A)(ii) Stafe & Explain different types of Duties charged under Customs Law. )
< e OR |
Q5.B) Write Short notes (Any 3) : (15)
a) Electronic Cash Ledger
b) E-way Bill
¢) -Social Welfare Surcharge

d)  Types of Warechouse .
..¢) TCS Provision Under GST.

3 3 ok 3K ok ok e ol ok ok ok ok o
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Paper / Subject Code: 85602 / Cost Accounting - IV

(2% Hours) " (Total Marks :75)
Notes :- 1) All questions are compulsory. ‘ '
2) Each question carries 15 Marks.
3) Figures to the right indicate full marks.
4) Working should form part of answer.

Q.1 A) Match the Column (Any 8) ; , » - ®)
Column A * Column B -
1) Master Budget - A) Always Unfavorable
2) Limiting Factor B) Variable Cost - .
3) BEP g C) Based on Marginal Cost
4) Sales Budget B D) Limiting Factor :
5) Minimum Price E) Decrease in BEP
6) Increase in Selling Price - -F) Equal to Marginal Costing
7) Key Factor e . G) Estimate of sales
| 8) Make or Buy i | H) No Profit, No loss stage
9) Marginal Cost - I) Constraint
| 10) Idle Time Variance : +J) Summary of all functional budget
f B) State whether the statements True of False (Rewrite the sentence) (Any 7) (7)

1)  Excess of actual cost over standard cost is a favorable variance.

2)  Cost incurred in the past is future cost.

3) . Flexible budget is rigid.

4) Budget manual is budget prepared annually.

5)  Sales manager is responsible for efficient buying.

6) Labour strike causes idle time variance.

7) The most profitable sales mix is the one which gives maximum contribution.
8) - Contribution variance is under the control of management. _

9)  P/V ratio shows the relationship between contribution & sales.
10) At shutdown point operating loss is equal to loss due to shutdown.

Q.2. The Jayawant Battery Co, furnishes you the following income information : (15)
Year 2019
First Half Year Second Half Year
: “.. Re. ™ Rs. i
! Sales = 8,10,000 10,26,000
Profit earned 21,600 64,800
From the above , you are asked to compute the following assuming that the fixed cost
remains

the same in both the periods:-
1. Profit / Volume Ratio
2. Fixed Cost
3. Break Even PointinRs.
4. Amount of profit or loss when sales are Rs. 6,48,000
5. Amount of sales required to earn a profit of Rs. 1,08,000
OR
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Paper / Subject Code: 85602 / Cost Accounting - IV~

i
Following information is available : 2 ol *\’" 5 o
Prodnﬁ . ] Product i i
PerUnit " Per Unit
. . \;;;' Rs, i
Direct Material - ol Sopee T
Direct Wages i At 401" A 0] &
Variable Overheads oL 30 s 501
Selling Price & 7200 %) 275
Total Fixed Overheads Rs;.\ZO 000/-_ % A e i
From the following alternative w};ﬁch sales :mxed will bnng lugher proﬁts i
a) 250 units of ;(ﬁnd ISOAEEits of Y ; frans

b) 150 units oftx and 251) units on

¢) 400 units of X only =

d) 400 uguts of Y o,nly ‘ “ 3

e) 200 umts of X and 200 units of Y
Support your answer with workmg 5

s b
«::v “-w e s

‘g’

L

Q3. A department company, Gun}al stores,attams a sale of Rs. 12‘00 000 at. 80% of its normal

capacrty and weXpemes are given below: 'x S
D Partlculars P eka Rs iy
: Adlmmstratmn Cost' \: 1 -
Office Salafies .| 180000 =
) GeneralExpenses -, ‘ 2% bf Sales z
Deprec:atlon A 1 \ 15 000 X :?3"" X ‘
Raics and Taxes Bs00.
. 5 o
. Salanes =X 3 S 8% of Sales "
& r Tragellmg Expenses g 2% of Salgé"
Sales Office Expcnses;f: 1% of Sales
8 - General*Expenses 5 l'/qﬁf Sales
& wagges o - 130,000
Rent "m = - | 1% of Sales
; - Office EXpenses 4 4% of Sales

ﬁraw up ﬂexxble admmlstratlon sellmg and distribution costs budget operating at 90% , 100%

~and 110% of capac:ty

«.\'\
v

‘ 7559@_;:"

OR
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- Paper / Subject Code' 85601 / Finanq:l Accougﬁng VII

VL hu“‘mm depreciatxomschagedapg- e
2 The rate prescribed by the central electncltyrggtﬂmqm ':C-' o
ed by the companies act ‘ -5 . -
d by the i meometaxach & ;— - |
, d by the comptroller and mﬂn@sﬁ_\m S

“— < ended scheme of a mutual fun‘d is govdmdby =

o Blchlnge rules of the stock cxchange where“it is u‘:
b. Listing agreement between @aﬁmd anq;the stock&l-.
¢. Guidelines issued by the mﬁnstry of ('pmmcrce g :
d. Companies actprovxsxgns relann&to transacthms in s ” f‘. _
VIIL Investxnentpohcies:pfamun}i}‘fund are det mined by
The fund manager \‘,‘} e _\:‘9 :

The AMC management (»f_f' Gj:“-'
The markem:g department base¢an what dfétn
| d. Thei mveStots o ,C o ,,;“-.' <
| IX. Sect;op 4 : pf the Act, states that sac-q ' ﬁﬁa}xcial
| s;a,tcment aud arrive at us conseqwent net pmﬂf or g ' 1
65(1) ° e o &
652)
e 6438 e ¥
X The mmnnm ampunt of cash hllowable to be keg
~a. Rs. 53000 o i o :_‘-}
;.-?-' b. Rs. 1,000 ;" T

c. -Rs. SW 2y

4 Rs. 3@, - =
Q 1B. Sl‘ m ﬂhwing statement is Tnle or
e, ; L l'ﬁ: muﬂb electncity act, 20.03 is to & S tariff
el “‘f:i h%h = P ~ S‘F

l‘(‘,
rd
Vr,

F 4

o p

o

§

( d n

P- e oo

% "',-'
£y
#

’ NEY -
S N i

)
'

S v «Wﬁmm M among the members on
H?tﬂg.b holderof the secunty on the
S i}I. P‘-#’ current investment'is transferred

E, hw u'ansfcued to capital reserve

%d of holding
on sale of
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‘Paper / Subject Code: 85¢

ies generally offer exit op '
' isahedgeagax‘nst"’

«d NAV does not inch ‘ -
th consolidated financia

",

‘»
& P

of Vijaya electric su

Accouqﬁng V"II

thrbugh stock exchange
lent in a golgefund is risky

(%)
s

: ye mded 31"@t March 2022 is as below 15)

Cr. R, (000)

o Dr Rs. ('ono)
il B = 6250 I S
100 each S . 1;875.00 | -
s S 313,00 s
2 & 3,087.5Q°
> 1,912:50
1,556.25 | -
-4,391.75.]
e - 7,132,265
e 565.50 o
: 393.75 o
=39125 |
* 306.254
5 o ~ 627.50
: - - 1,503.75
X 2,055.00 |
= - B 668.75
= = - 1,506.25 |
= -~ " 780.75
on > 1,501.25
= 406.75
= o Ry -380.00
g Z B 3,227.00
= > -~“' 815.50
> o ; 1,512.50

21,480.00

21,480.00

4 ‘.E

OR
-
g : .
= 1 S
+" Page3of6
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‘(‘000)\12 50 of 14% prefelﬁe dnms ‘were redecmed at a premium of 10% out of

: of Eq).uty shares of neoesﬂymts ata premlum of 10%. Prepare for the above
ojt‘Slst Mamh 2023 as per schedule III of thc compames Act, 2013.



Paper / Subject Code: 85601

Q.2 B. From the following trial balance as on 31-3-

per applicable legal provisions.

i

l (c) Authorized Cnp"’ital 180 shares of Rs 50 each
(d) Dues fromumembers fbr estabhshmmt expenscs Rs. 43,242 Tl
w ‘ended 3fst March, 2023 Mr,. Vlrag

‘Q3 A. Durmg the
_of Rs. lQO each oflmm

DIVYA CI
Trial Ba
Particulars Rs. .~
1 Share of MDCH Federation e
Cash in Banks q.if 3 08 75
Cash on Hand 4 o
Electricity Charges '?6 I‘M
Fixed Deposits s ¥ :8,00 8
Furniture and Fittings S g
Insurance Charges - 2 9,957 |
Office Expenses _ o 1,344 |
Professional Fees i o < 7,000
Property Taxes & T 1,49,723
Repairs & Mamtenanqg .;'"-"-‘ L 42940 |
Salaries : ;A 36,500 :
Subscription of Hﬁ’usm&Fed&atxon 2k 500
Subscription to the Educaﬁon Fund o L*" 300§
Water Charges 36,75;83 .
A ..;: : 7 14,70,775
Adjustments R ‘L‘f‘ e -
N : 3
(a) Outsmnmng@xpenses oS
(o) Salary Rs. 3,200 Pl 3
e ~
(1) Wa‘ter charges Rs. 12 3934 - e
(m) Repau's and Mamtenance Rs “4,200 i f.“'
~ (iv) Blectricity Charges Rs. 1}500 & o
_:(b) Depreclatlon on Furnlturc @10% ol ‘ ' =

4"‘\

Immstbemg payable by

el

L

year. w ‘,_\ _:-,- < X
Date R = X Ehrﬁm_lajs ;*’

| TstJune, 2022 | Bought 300 Debentures at

| 1st September, 2022 | Bought 100 Debentures at
1st December, 20 | Sold 200 Debentures at Rs.95
Ist Febmy,\ D Bought 150 Debentures at Rs.

Books are Mﬂiﬂ“‘ﬂwy year. “Market price on 31st

“You mm_w in 12% Debentures in Li

Mmm-ﬁhd-

Virag (Apply AS 13).

e ol i
26552 Pas ey  Pagedof6
- S v.-'-‘-f 3
> o y
w & _ BCSES8015075A062105B4292

!& prescnbed format as
=3 U 5)

£ Rs.

' 8 397,76

7 KS 10,

' o) 26
62

. ~ 80

TS 1,65,

- Openi __7,95,661

5,000

. bt

- 14,70,775

12%; Debentures
15t October each

(15)

per Debenture.
¥==ar ended 31st




Paper / Subject Code: 85601 / Financ_lal Accounlicg - VII j'

OR

T '
!

. Q.3 B. Miss Bhagawati entered into the following transaetlons of purchase and sales of 12% Debentures of

100 each of Mansi Ltd. Interest is payable on 30th June and 31 st December cvery year: Transactwn»s are as

under: & i b (15)
Date No. of Debentures Terms 3 !
01-04-2022 800 Opening Balance at a cost of Rs. 76,000
01-06-2022 300 Sold at Rs. 105 cach cum-interest
01-09-2022 700 ~| Purchased at Rs. 98 'each Ex-Interest
01-12-2022 400 o0 Purchased at Rs. 108 each Cum—Intercst
01-02-2023 900 - | SoldatRs.97 ‘each Ex-Interest.

Prepare Investment Account of 12% Debentures in the books of Bhagawati for the year ended 31% March
2023, The market value on 3 lst-March 2023 was Rs 67 500 of the said Imrestrnent Apply AS 13

Q.4 A. On 1st April, 2022 Gocd Return Mutual Fund has the followmg assets and prices at 3. 00 p.m (15)

Shares of A Nc. of Shares . Market Price Per Shares
X Ltd. S e |5 < 18.50

Y Ltd. o 7 b 35% 7 384.40

Z Ltd. & ‘ 10000 o 263.60

A Ltd. - Lo 75000 - ) 87560 .

B Ltd. s & : 20000} % 2165 5

No. of Units of Fund 2 5 00, 000 Units

e e —

(a) Calculate the Net Asset Value (NAV) of the fund

(b) Assummg Mr Suresh;scnd a chchue of Rs. 75 00 ;000 to the fund on lst Apnl 2022 and Fund of
Manager purchases 15 :000 shares of Z Ltd. and balance is held in bank. What will be the new position of the
fund? o = 2 3 :

(c) Calculate the new Net Asset Value (NAV) of the fund if on 2nd Apnl 2022, at 3.00 p.m. the market

pnce of shares is as follows

Shares of r - Rate per Shares (i_;l Rs.)

XM, . O 21305
Vi L =7 417,80
Z Ltd. e T 289180 ]
Afld -~ -2 512.20
Bl o 0 - 35.00
26552 - ‘ ~ PageS5ofé6
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Paper / Subject Code: 85605 / Security Analysis and Portfoho Management
™ BAE

Time :2% Hours Marks : 75

1. All question are compulsory. y '

2. Make suitable assumptions wherever necessarv and’ state the assumptlons made.
3. Answer to the same question must be written together.

4. Numbers to the right indicate marks

e

Q1) (A) Multiple Choices Question' (Any Elght) :,_ _ : (o8)
1. Financial markets can be classified into money markets and - markets
a) Securities " b) Prsmary 6 Secgnd ary ~ d) Capital

2. The objective of portfolio is to reduce by diversification e
a) Return b} Risk " c) Ur'ft:erlainty o d) Percentage

,‘

3. As per single: mdex model beta is the slope of

a) The security market line “b) The cgpital market line
c) characteristic line - - ) TheCA%

4. Returnon investment is determined by - i :
a) Net Profit .~ b) Capltal employed * ¢) Networth  d) Net profit and capital employed

5. The fundamental analyms isa method of finding out

“a) Ratio b} Past value of shares c) Tlps : d) Future price of security
8. As per capital asset pru:lng model beta is a measure of <l risk.
a) Company spécific b} Unsystematlc c) Total - d) Systematic
7.5 Pl mdex is a ratio of return generated by the fund over and above risk-free
. rate of return, during a given period and systematic risk: assocnated_wth it.
a) .lensen 'b) Sharpe s > + €) Treynor S el CAPM
8. ..__assists in the selectaon of the most efﬁcnent by analysing various possible

~portfolios of the g given securities |
. a) Markowrtz model b) Interior decoration, Model c) AA Mode! 5 c} BB

9, e measures the dtspersion of data from its expected value

a) Beta b) Alpha F) CAPM - d) Standard deviation

10. in _ : . stage, poor performers start winding up their businesses
* a) Slow growth b) Decline _*c) Rapid growth d) No growth

Q1. B. Answer whether the below statements are true or false (Any seven) (07)
1 Portfolio means a comblnatlon of ﬁnancual assets and physical assets.
Investmg in equity share is a tax sawng investment.
3 Portfolio risk cannot. be reduced with diversification.
4. The single index model is the complex and the most rarely used simplification.

&5, Buying and selllng of securities does not involve transaction cost such as commission and

brokerage.
6. Price level and inflation affect the economy of the country.
7 Fundamental analysts believe that price move in short, medium and long- term trend.
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Paper / Subject Code: 85605 / Security Analysis'ﬁnd Portfolio Management

Q4) (A) Following is the balance sheet of Arni Ltd., As on 31% March 2017

Balance Sheet as on 31-03-2017

Liabilities Amount | Assets ‘| Amount . |
8 % Preference share Capital | 56,000 | Fixed Assets : 3,38,000
Equity Share Capital © 1,00,000 | Investment A 39,000
Reserve 1,04,000 | Cash .~ e 13,000
Long term loan 1,82,000 | Debtors - 52,000
Creditors 2! 44,200 | Stock y 78,000 |
Provision for Tax . . /33,800 *
Total K s 20,000 | Total - | 5,20,000
Income statement for the year ended 31-03-2017 ;
Partlcular Amount
Net Sales o 3,90,000
Less : Cost of goods Sold. ‘| (3,35,400)
| Gross Profit 54,600
1 Less: Operatngx enses (22,750) | v
Operatmg Profit ( h‘) .7 31,850%
Less Interest - * P (9,100)~
Net profit Before Tax - 22,750

Additional lnformation
1. Tax Rate =30%

~ 2. Face value of Equity ;hare Rs 10

3. Proposed Dividend = 5% & :

4. Market Price, of Equity share = Rs 35 per share -

Complete thei income statement and ‘calculate the fullowmg ratios: -

a) Interest Cuverage ratlo “b) EPS . .¢) Debt Equity ratio
 e) Dividend pay-out ratio . ) Gross Profit ratio
g) Current ratio h) Proprietary ratio i) Operating Profit Ratio

OR

Q4) (B) Dnscuss types of chart: prattern in technlcal analysm
Q4) (C ) What are the phases of portfollo management

Q5) (A) How is systematlc risk and unsystemanc risk of partfollo

“model?

Qs) (B} Ekplam various ObjECtIVES of portfoho management

calculated as per single index

Qs5) (C) Shorthbtes (Any three).

AR

OR

Fundamental Analysis
_Japanese Candle stick chart
Forms of Market Efficiency

Financial Leverage.

Beta and its importance
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Paper / Subject Code: 85607 / Economics Paper - III (Indian Economy)

Time: 2 Hrs. 30Min £ ' Total Marks: 75

NB : 1) All Questions are Compulsory.
2) Figures to right indicate full marks.

Q.1 2) Fill in the blanks with appropriate answer. (Any Eight) (8)
1. Procurement price is : than the issue price.
a. More b. Less ¢. Equal d. Subsidised : :
2. To address queries of farmers, are operational in various Indian states,
A. Kisan call Centers- b. Extension services ¢. Mechanisation d. Online Services '
3. The world's largest héalthcare program is
a. MGNREGP b. Swatchh Bharat c. Ayushman Bharat d. Make in India
4. Inflation favors the e ‘Wage earners. :
a. Poor b. Rich c. Middle class d. Farmers
5. Automatic approval for foreign technology agreements will be given by the - A

a. RBI b. Government c..Local Banks  d. Private Banks ;
* 6. In Industrial Sector, the industrial sickness is the result of * factors.
a. - Changes extended b. Internal and extended
¢ Internal and external d. Changed and external
7. Balance of payments of a country is based on entry book-
keeping system. ;
a. Double b, Single c. Triple d. Quadruplets
8. - facilitates electronic bidding in auctions in government securities.
2.0TCEI . b. CCIL ¢.NSDL d.NDS
9. The sale of equity in public sector enterprise is known as
a. Investment b. Disinvestment c. FPI d. FII
- 10. Investment limit in small businesses is
a.20 lakhs  b.25lakhs c. 101lakhs  d. 2 lakhs

b) State whether the following statements are True or False: (Any Seven) (7
I. Unemployment during off season is called seasonal unemployment.
| 2. Short term agricultural loans are provided for Twelve months.
r 3.The tost important indicator of the financial soundness of banks is Cash Reserve Ratio.
4. Adequate finance is available for small scale industries.
5. Middlemen help farmers to market their products at remunerative prices.
6. The service sectoremploys the maximum number of people.
7. Deficit in current account is always offset by surplus in capital account.
8. GATT was transformed into WTO on 1* January, 1995
9. Money market deals with short term funds.
10. A decrease in repo rate makes credit cheap.

Q.2 a) What ére the reasons for poor implementation of land reforms? (8)
b) Discuss the effects of income inequalities in India. 1))
._ : an
> c) Outline poverty alleviation programmes introduced in Indis - (8)
d) Examine the problems of agricultural marketing in Indis )
25747 ' : Page 1 of 2
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Paper / Subject Code: 85607 / Economics Pap’ér - III (Indian Economy)

Q. 3 3) Explain the impact of New Industrial Policy, 1991. (8
b) Describe the role of public sector in India. (7
OR
¢) Highlight the measures taken by the government for the development of small scale
industries. : 8)
d) Elaborate the changes in the industrial pattern inIndia. - )
Q. 4 a) Describe the nature and scope of service sector industt}} in India. 8
b) Discuss the important trends in health industry in India. : )]
‘ : OR _ :
} ¢) Explain the various types of foreign direct investment (FDI). (8)
d) Explain the principles ‘and functions of World Trade Organization (WTO). (7N
Q. 5 a) Explain the quant@_;aﬁve and quﬁiitative techniques of credit control. (8)
b) Highlight the important players of money market, - (7
S ~ OR )
Q. 5 Write Short Note On (Any 3) : : | s 115

a) Co-operative marketing
b) Pattern of industrialization

¢) SAARC
d) Unorganised Indian Money Market
¢) SEBI |
%787 - Page 2 of 2
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Paper / Subject Code: 85603 / Financial Management - I1I b\\
T4 BAF]

Duration : 2.30 hours Marks :75

N.B.:

1. All Questions are compulsory.

2. Working Notes should from part of answer.
3. Figures to the right indicates full marks.

4. Use of simple calculator is allowed.

Q1. A. State whether following statement True or False (Any 8) (08)
a. Salvage Value is the sale value of an old asset after its usage.
b. Fair Value of the shares is equal to average of intrinsic value and yield value.
c. Preference dividend is deducted from NPAT for calculation of EPS.
d. Pooling of resources by two or more companies under a common entity is called as
merger. :
e. Fictitious assets are written off to capital reduction account.
f. Appreciation in land and building is debited to capital reduction account.
g. Costof asset is cash outflow to lessee.
h. Annual lease rental is considered as cash outflow for lessor.
i. MPBEF refers to Minimum Permissible bank finance.
J-  Depreciation is an external source of finance.
Q1.B. Match the Column (Any 7) 07)
Column A Column B
1.Super Profit a. Initial Payment
2.Normal rate of return b. Excess of FMP over Normal Profit
3.Horizontal Merger c. Rate of Interest Plus Rate of Risk
4.Conglomerate d. Merger of unrelated line ]
5.Creditors accepting part payment e. Two Companies in the Same line
6.Loss on Revaluation of asset f. Compromise
7.Hire Purchase Price g. Debit Capital Reduction
8.Down Payment h. Cash Price Plus Interest
9.Bill Payable i. Normal Profit over FMP
10.Working Capital Finance 1. Cash Price less Interest
k. Spontaneous Source of Finance
L. Provided against inventories
Q2.A. The Balance Sheet of Abhishek Ltd. as on 31/03/2023 is as follows: (15)
Balance Sheet As On 31/03/2023
Liabilities Amount | Assets Amount Rs,
Rs.
4,000 Equity share of Rs. 100 4,00,000 Land & Building 2,20,000
each
General Reserve 40,000 Plant & Machinery 2,60,000
Profit & Loss A/c 64,000 Patent & Trademark 44,000
Creditors 2,56,000 Stock 60,000
Income Tax (provision) 1,20,000 Bank 1,04,000
Preliminary Expenses 24,000
Debtors 1,68,000
8.80.000 8,80.000
25686 Page 1 of 4

572450D80F15DEE7DA177E7451 AS9EE4




| Rs. 3,80,000

A Rs. 2,80,000

chi A Rs. 2,82,500
Debtors it was fi

nines

_ 'i the Company has been as follows:

r/ Subject Code: 85603 / Financial Management - I11

ound that debtors of Rs. 8,000 are bad.

Rs.

2020-2021

1,60,000

2021-2022

1,80,000

_2022-2023

2,12,000

‘of business earns 10%.
e of business under:

OR

's the practise of 'ttg_ﬁs'ferdng 25% of profits to General Reserves.

I /A from the following on March 2022 for ZT Ltd (08)
Financial Leverage 1.4 times
| Equity Capital Rs 340 lakhs
Reserves and Surplus Rs 260 lakhs
1 10 % Debentures Rs 800 lakhs
| Cost of Equity 17.5%
’;Irn_‘come Tax rate 30 %
F <
t e MVA from the following information of Beta Ltd. 07)
' a ' Amt Assets Amt
e (in Lakhs) (in Lakhs)
capital of Rs 10 each [ 2,400 Buildings 3,600
ming 1,200 Machinery 1,600
ar 1,600 Stock 200
e 700 Debtors 160
860 Bank 1200
AR 6760 6760
Tax (PAT) = Rs 4,542 P/E Ratio =2
" t ’--\‘:-
=
25686 Page 2 of 4
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Paper / Subject Code: 85603 / Financial Management - ITI

Q3.A. The following information is provided related to the acquiring firm S Limited

and the target firm T limited. (15)
Particulars S Limited T Limited
Earning After Tax Rs 8,000 lakhs Rs 600 lakhs
Number of Shares 800 lakhs 300 lakhs
P/E ratio {Times) 10 5
Required:

1. What is the swap ratio based on current market price?
2. What is the EPS of S Limited after acquisition ?

3. What is the expected market price per share of S Limited after acquisition assuming P/E
ratio of T Limited remains unchanged ?

4. Determine the market value of the merged firm

5. Calculate gain/loss for shareholders of the two independent companies after acquisition.

OR
Q3.B. The balance sheet of VST limited as on 31/03/2022 as follows: (15)
Balance sheet as on 31/03/2022

Liabilities Rs. Assets Rs.
Equity share of Rs. 100 each 1,00,00,000 | Fixed asset 1,50,00,000
6% cumulative preferences Investments (market
of Rs.100 each 50,00,000 | value rupees 19,00,000) 20,00,000
5% debentures of Rs. 100
each 40,00,000 | Current assets 60,00,000
Sundry creditors 50,00,000 | Profit and loss A/C 12,00,000
Provision for taxation 2,00,000

2,42,00,000 2,42,00,000

The following scheme of internal reconstruction is sanctioned

K
Z
-

N N

8.
%

Al the existing Equity Shares are reduced to Rs 40 each

All Preference Shares are reduced to Rs 60 each

The rate of interest on debentures increased to 6%. The debenture holders surrender
their existing the debenture of rupees 100 each and exchange the same for Fresh
debentures of Rs 70 is for every debenture held by them.

Fixed Asset are to be written down by 20%

Current Assets are to be valued at Rs 46,00,000

Investments are to be brought to their market value

One of the creditors of the company to whom the company owes rupee 40,00,000
decides to forgo 40% of his claim and was allotted with 60,000 equity shares of
rupees 40. each in full and final settlement of his claim.

The taxation liability is to be settled at rupees 3,00,000

It is decided to write of debit balance of profit and loss account

You are required to:

1.
2.

25686

Pass necessary journal entries
Balance sheet after reduction.

Page 3 of 4

572450D80F I SDEETDA 177E7451 AS9EE4



per / Sﬁbject Code: 85603 / Financial Management - ITI

ires an equipment costing 2,00,000 the same will be utilized over (15)
s it has 2 financing option in this regard. The Salvage value of Equ1pment
ar is zero. The company uses straight line depreciation. Assume tax rate is

swed fund at the cost of 18% p.a repayable in 5 equal instalments of Rs

on lease and on an annual rent of Rs 32,000

18%
Year Value
1 0.847
2 0.718
3 0.609
4 ' 0.516
5 0.437
Total 3.127
pany which option should go for if internal rate of return 18%
OR

d issued commercial paper worth RS 20 crores as per following  (08)

16/01/2022

17/04/2022
91

12% p.a
amount received by the company on issue of commercial paper (Changes of
nay be ignored) (Assume number of days in a year is assumed to be 365 days)

has total credit sales of Rs 2,00,00,000 and its average collection period is (07)

2 debts are around 1% of credit sale. The firm spends Rs 2,20,000 per year on
dit sale. A factor is prepared to buy firm receivable. He will advance receivable
18 % interest after keeping 10 % as reserve. Suggest whether the company should

management of debt and or factoring service (Assume number of days in a year
be 360 days)

1sh between Merger and Takeover (08)
in different types of leases? 07)
' OR

te on the following (Any 3) (15)
tions of Shareholders rights

med Earning

es of Factoring

aficate of Deposit

’_,*.
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